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Couchbase Server Features

« Built-in clustering — All nodes equal

« Data replication with auto-failover

e Zero-downtime maintenance

e Clone to grow and scale horizontally




Auto-sharding: vBuckets
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Couchbase Server Features

« Memcached compatible (built-in caching)

 Monitoring and administration APIs and
GUI

5. * Reliable storage architecture




Couchbase Server 1.8 Architecture
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Couchbase SDKs

User Code =
B - =

<?php
ext/CO u Ch ba Se Scb = new Couchbase("http://127.0.0.1:8091");

Sch->set("key", "value");

libcouchbase

Ruby SDK
Couchbase Server

...and many
more

http://www.couchbase.com/develop




Couchbase Server 2.0

« Next major release of Couchbase Server
e Currently in Developer Preview

What’s new:

e Indexing and Querying

« Incremental Map Reduce

« Cross Data Center Replication

« Fully backwards compatible with existing
Couchbase Server
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Indexing and Querying
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Cross Data Center Replication
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Replication
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Replication

= \Want data close to user

= Want multiple locations for disaster recovery

= Multi-Master: Can write to same document in all
different regions & it will sync (eventually consistent,

always available)

Not yet enabled in current DP, will be available for Beta



EXT/COUCHBASE




<?php
Surl = "http://localhost:8091/";
Scb = new Couchbase(Surl);




<?php
// setup
Scb->set("a", 1);

Sa = Scb->get("a");
echo S$a; // prints 1

Scb->increment ("a");
echo Scb->get("a"); // prints 2
Scb->delete("a"); // booya




Storage Operations

<?php
// set "a" to 1
Scb->set("a", 1);

// fails if "b" exists
Scb->add("b", 1);

// fails if "c" doesn't exit
Scb->replace('c", 1);




<?php
// set "a" to 1 for 10 seconds
Scb->set("a", 1, 10);

// most other ops can set expire

// just update the expiry
Scb->touch("a", 10);




Compare And Swap

<?php
Scas = -1;
Scb->get("a", null, &Scas);

echo Scas; // prints 76324827359

// fails if cas doesn't match
Scb->cas(Scas, "a", 2);




<?php

Scb->set("a", 1); //
Scb->increment ("a");
Scb->increment("a", 2);
Scb->decrement("a", 4);

a

//

is 1

"a" 1is 2
// "a" 1is
// "a" 1is

4
0




<?php

//
//
//
//

//
//

increment "b" by 3, create "b"
if it doesn't exist in which
case, 1initialise it with 2, set
no expiry

increment (Skey, Soffset,
Screate, Sexpiry, S$initial)

Scb->increment ("b", 3, true, 0, 2);




QUESTIONS?




THANK YOU!

Get Couchbase Server 2.0 at
http://www.couchbase.com/downloads

Give us feedback at:
http://www.couchbase.com/forums
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